Floral Shop Math

Sort Answer Key

1. a) 124 bouquets

b) $1711.20

c) 15 - .20x

d) 100 + 4x

2. R(x) = (100 + 4x)*( 15 - .20x)

3. a) $2000

b) possible answer: after graphing the revenue function use the maximum feature from the CALC menu.  More detailed response might include instructions for setting the left and right bounds when using the maximum feature.

            c) 25 times

            d)  $10

            e) 200

4.  P(x) = (15 - .20x) * ( 100 + 4x) – 6 * ( 100+4x)

5.  a) $980

     b) $13

     c) 140

     d) answer similar to 3 b) ; however, now you are graphing the profit function instead   

         of the revenue function.

6.  The maximum values for profit and revenue had different coordinates for x.

Selling the bouquets for $13 each brings in the greatest profit.  Selling the bouquets for $10 each brings in the greatest revenue.  Most people would be more concerned with having the greater profit because that is money that you get to keep.  So, sell the bouquets for $13 each.  

